Soustraction Avec Un Zéro (E)

1000
- 968

10 000
-4 735

10 000
-2 868

1000
- 684

10 000
-7912

1000
- 437

10 000
- 6182

Calculez la différence.

10 000 1000
-3981 -16
1000 10 000
- 459 -5079
1000 10 000
- 36 -7 583
1000 1000
- 306 -233
10 000 10 000
-5120 -3 060
1000 10000
-431 -8957
10 000 1000
-9450 -711

1000
- 802

10 000
- 759

10 000
-2 696

1000
-21

1000
- 861

10 000
-3 263

1000
- 200
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Soustraction Avec Un Zéro (E) Réponses

1000
- 968

32

10 000
-4 735

5265

10 000
-2 868

7132

1000
- 684

316

10 000
-7912

2088

1000
- 437

563

10 000
- 6182

3818

Calculez la différence.

1000
- 802

198

10 000
-759

9241

10 000
-2 696

7 304

1000
-21

979

1000
- 861

139

10 000
-3 263

6737

1000
- 200

10 000 1000
-3981 -16
6019 984
1000 10 000
- 459 -5079
541 4921
1000 10 000
- 36 -7 583
964 2417
1000 1000
- 306 -233
694 767
10 000 10 000
-5120 -3 060
4 880 6 940
1000 10 000
-431 -8957
569 1043
10 000 1000
-9450 -711
550 289

800
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